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PRM

TACHOMETER

T9Z-4

99mm

9.5mm

45.5mm

Min.116

91.5
+0.6
-0

45.5
+0.6
-0

Min.52

96mm

48mm
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of p.p.r（pulses 

per revolution）

OUT

PNP

OV 
OV

OV

+

-

PNP Sensor: DC voltage pulse signal:Switching signal:

Count

Count

NPN Sensor:

NPN Sensor,If no internal resistance

 need to add external resistors 2KΩ.

  

2KΩ

[H]DC4.5-30V（ Input ON）

[L]DC0-2V（Input OFF）
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Count signal input connection:



Auto-Zero time Minimum 
Connected by wiring pin

1/60 2 0 .5 4 5 6 （4、5、6 All connections）

4 5 6

4 5 6

1/30 3 0.6

1/10 4 1.5

1 /1 610 4 5 6

（4、6 Connection）

（4、5 Connection）

（All is not connected）

of P.P.R
The setting 

(seconds) speed

  

■

1:T9Z-4 is the economical meter,it just only has “R.P.M”function.

2:At the low rate(less 10 R.P.M),if adapt one singnal per revolution,then the sampling time will be 

   too long(over 6 seconds)that the meter may judge the operation holding still and reset to zero.Thus,

   try to increase the sensing time(eg.use the disk)and then match P.P.R.if operate at low raet.After 

   that,all of the problems can be overcome and also can raise th response speed.

3:Change the instrument function, need to re-power, to take effect.
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